City Clerk

#### Bid Committee Bid Tab

# Bid MC-0734 Ended At Jul 5, 2023 10:00:00 AM CDT CONSTRUCTION/CITY - Under Utility Locate Services, Citywide

Company:	Sidewinder Utility Locators	J&A Utility Exploration #2	
Imported Item Lot	\$319,440.00	\$547,600.00	
TOTAL BID:	\$319,440.00	\$547,600.00	

Tresha Williams	Angee Wagner	Randall Daniel
City Clerk	Purchasing Agent	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

## **Bid #MC-0734 - Under Utility Locate Services, Citywide**

Start Date Jun 7, 2023 7:42:22 AM CDT Awarded Date Not Yet Awarded

MC-073401-01 Imported Item Lot: Utility Locate Native Soil Cover, Depth less than 5 ft								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sidewinder Utility Locators	First Offer - \$202.00	300 / each	\$60,600.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
J&A Utility Exploration	First Offer - \$300.00	300 / each	\$90,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-0734–01-02 Imported Item Lot: Utility Locate Native Soil Cover with Survey Service - Rural area, Depth less th								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sidewinder Utility Locators	First Offer - \$302.00	300 / each	\$90,600.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
J&A Utility Exploration	First Offer - \$350.00	300 / each	\$105,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-0734–01-03 Imported Item Lot: Utility Locate Native Soil Cover with Survey Service - Congested area, Depth les							
Supplier	Unit Price	Qty/Unit Total Price Attch. Docs					
Sidewinder Utility Locators	First Offer - \$302.00	300 / each	\$90,600.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
J&A Utility Exploration	First Offer - \$375.00	300 / each	\$112,500.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

MC-073401-04 Imported Item Lot: Utility Locate Native Soil Cover, Depth of 5 ft - 10 ft								
Supplier	Unit Price	Qty/Unit Total Price Attch. Docs						
Sidewinder Utility Locators	First Offer - \$242.00	30 / each	\$7,260.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
J&A Utility Exploration	First Offer - \$350.00	30 / each	\$10,500.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-073401-05 Imported Item Lot: Utility Locate Native Soil Cover with Survey Service - Rural area, Depth of 5 ft								
Supplier	Unit Price	Qty/Unit Total Price Attch. Doc						
Sidewinder Utility Locators	First Offer - \$352.00	30 / each	\$10,560.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
J&A Utility Exploration	First Offer - \$375.00	30 / each	\$11,250.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-073401-06	Imported Item Lot: Utility L	ocate Native Soil Cover wi	th Survey Service - Cor	ngested area, Depth of	F	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sidewinder Utility Locators	First Offer - \$352.00	30 / each	\$10,560.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
J&A Utility Exploration	First Offer - \$375.00	30 / each	\$11,250.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

MC-073401-07 Imported Item Lot: Utility Locate Asphaltic Conctrete Pavement Cover, Depth less than 5 ft							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
J&A Utility Exploration	First Offer - \$350.00	10 / each	\$3,500.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Sidewinder Utility Locators	First Offer - \$382.00	10 / each	\$3,820.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

MC-073401-08 Imported Item Lot: Utility Locate Asphaltic Concrete Pavement Cover with Survey Service - Rural are								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do						
J&A Utility Exploration	First Offer - \$400.00	10 / each	\$4,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Sidewinder Utility Locators	First Offer - \$460.00	10 / each	\$4,600.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-073401-09 Imported Item Lot: Utility Locate Asphalitc Concrete Pavement Cover with Survey Service - Congested								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
J&A Utility Exploration	First Offer - \$425.00	10 / each	\$4,250.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Sidewinder Utility Locators	First Offer - \$460.00	10 / each	\$4,600.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-073401-10 Imported Item Lot: Utility Locate Asphaltic Concrete Pavement Cover, Depth of 5 ft - 10 ft									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do							
J&A Utility Exploration	First Offer - \$400.00	5 / each	\$2,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$413.00	5 / each	\$2,065.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-11 Imported Item Lot: Utility Locate Asphaltic Concrete Pavement Cover with Survey Service - Rural are									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do							
J&A Utility Exploration	First Offer - \$450.00	5 / each	\$2,250.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$492.00	5 / each	\$2,460.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-12 Imported Item Lot: Utility Locate Asphaltic Concrete Pavement Cover with Survey Service - Congested									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
J&A Utility Exploration	First Offer - \$450.00	5 / each	\$2,250.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$492.00	5 / each	\$2,460.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-13 Imported Item Lot: Utility Locate Concrete Pavement Cover, Depth less than 5 ft									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
J&A Utility Exploration	First Offer - \$350.00	10 / each	\$3,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$382.00	10 / each	\$3,820.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-14 Imported Item Lot: Utility Locate Concrete Pavement Cover with Survey Service - Rural area, Depth I									
Supplier	Unit Price	e Qty/Unit Total Price Attch. De							
J&A Utility Exploration	First Offer - \$400.00	10 / each	\$4,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$460.00	10 / each	\$4,600.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-15 Imported Item Lot: Utility Locate Concrete Pavement Cover with Survey Service - Congested area, Dep									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doo							
J&A Utility Exploration	First Offer - \$425.00	10 / each	\$4,250.00		Υ				
Product Code:	Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$460.00	10 / each	\$4,600.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-16 Imported Item Lot: Utility Locate Concrete Pavement Cover, Depth of 5 ft - 10 ft									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Do							
J&A Utility Exploration	First Offer - \$400.00	5 / each	\$2,000.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$413.00	5 / each	\$2,065.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-17 Imported Item Lot: Utility Locate Concrete Pavement Cover with Survey Service - Rural area, Depth o								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc						
J&A Utility Exploration	First Offer - \$450.00	5 / each	\$2,250.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Sidewinder Utility Locators	First Offer - \$492.00	5 / each	\$2,460.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

MC-073401-18 Imported Item Lot: Utility Locate Concrete Pavement Cover with Survey Service - Congested area, Dep									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
J&A Utility Exploration	First Offer - \$450.00	5 / each	\$2,250.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Sidewinder Utility Locators	First Offer - \$492.00	5 / each	\$2,460.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-19 Imported Item Lot: Utility Locate Additional Depth Surcharge, 5 ft increments									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Sidewinder Utility Locators	First Offer - \$36.00	5 / each	\$180.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
J&A Utility Exploration	First Offer - \$50.00	5 / each	\$250.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

MC-073401-20 Imported Item Lot: Culvert Clean Out								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sidewinder Utility Locators	First Offer - \$66.00	100 / linear foot	\$6,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
J&A Utility Exploration	First Offer - \$1,600.00	100 / linear foot	\$160,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

MC-073401-21 Imported Item Lot: Valve Box Clean Out									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Sidewinder Utility Locators	First Offer - \$41.00	10 / each	\$410.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
J&A Utility Exploration	First Offer - \$400.00	10 / each	\$4,000.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

MC-073401-22 Imported Item Lot: Catch Basin Clean Out							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sidewinder Utility Locators	First Offer - \$61.00	10 / each	\$610.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
J&A Utility Exploration	First Offer - \$400.00	10 / each	\$4,000.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

MC-073401-23 Imported Item Lot: Slab Sodding								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sidewinder Utility Locators	First Offer - \$5.00	50 / square yard	\$250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
J&A Utility Exploration	First Offer - \$25.00	50 / square yard	\$1,250.00		Y			
Product Code:		Supplier Product Code:						

Agency Notes: Supplier Notes:

MC-073401-24 Imported Item Lot: Emergency Mobilization and Locate, Depth less than 20 ft							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
J&A Utility Exploration	First Offer - \$500.00	1 / each	\$500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Sidewinder Utility Locators	First Offer - \$500.00	1 / each	\$500.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						

MC-073401-25 Imported Item Lot: Emergency Mobilization and Locate with Survey Service, Depth less than 20 ft						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
J&A Utility Exploration	First Offer - \$550.00	1 / each	\$550.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Sidewinder Utility Locators	First Offer - \$650.00	1 / each	\$650.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					

MC-073401-26 Imported Item Lot: Work Zone Permit Fee for Each Work Order							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
J&A Utility Exploration	First Offer - \$50.00	1 / each	\$50.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Sidewinder Utility Locators	First Offer - \$50.00	1 / each	\$50.00	Υ	Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					

#### **Supplier Totals**

f Sidewinder	Utility Locators	\$319,440.00 (26/26 items)			
Bid Contact	Rick Egleberry James@Sidewinder-UL.com Ph 405-385-0688	Address <b>4705 Clayton Ln Stillwater, OK 74075</b>			
Qualifications OKC PRE-QUALIFIED CONTRACTORS					
Agency Notes	<b>::</b>	Supplier Notes:	Head Attch:		
f J&A Utility	Exploration	\$547,600.00 (26/26 item	ıs)		
	Cody Eakle cody@jaueokc.com Ph 405-768-4476	Address <b>1 E. Sheridan Ave Suite 20</b> <b>Oklahoma City, OK 73104</b>	0		
Agency Notes	<b>:</b>	Supplier Notes:	Head Attch: 』		

<sup>\*\*</sup>All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

#### Bid Committee Bid Tab

# Bid OCWUT ST-0163-2 Ended At Jul 5, 2023 10:00:00 AM CDT CONSTRUCTION/OCWUT - Diffuser Replacement

Company:	Wynn Construction Co., Inc	Archer Western Construction	
BASE BID	\$1,523,944.00	\$1,713,501.00	
TOTAL BID:	\$1,523,944.00	\$1,713,501.00	

Tresha Williams	Angee Wagner	Randall Daniel
City Clerk	Purchasing Agent	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

### Bid #OCWUT ST-0163-2 - Diffuser Replacement

Start Date Jun 7, 2023 7:42:22 AM CDT Awarded Date Not Yet Awarded

Wynn Construction Co., Inc \$1,523,944.00 (11/11 items)

Address 11901 North Eastern Ave.

Oklahoma City, OK 73131

Bid Contact Rick Thompson

bid@wynnconstruction.com

Qualifica	Ph 405-753-1120 ations OKC PRE-QUALIFIED CONTRACTORS				
Agency N	Notes:	Supplier Notes:			
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT ST- 0163-2- -01-01	BASE BID: MOBILIZATION - First Offer	\$45,000.00	1 / lump sum	\$45,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT ST- 0163-2- -01-02	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 14) - First Offer		1 / lump sum	\$68,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT ST- 0163-2- -01-03	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 20) - First Offer		1 / lump sum	\$68,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT ST- 0163-2- -01-04	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 44) - First Offer		1 / lump sum	\$52,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT ST- 0163-2- -01-05	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 80) - First Offer		1 / lump sum	\$152,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT ST- 0163-2- -01-06	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 14) - First Offer		1 / lump sum	\$193,472.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT ST- 0163-2- -01-07	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 20) - First Offer		1 / lump sum	\$193,472.00	

Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT ST- 0163-2- -01-08	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 44) - First Offer	\$134,000.00	1 / lump sum	\$134,000.00
Product (	Code:	Supplier Product Code:		
Agency N	lotes:	Supplier Notes:		
OCWUT ST- 0163-2- -01-09	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 80) - First Offer	· · · · · · · · · · · · · · · · · · ·	1 / lump sum	\$353,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT ST- 0163-2- -01-10	BASE BID: SUPPLEMENTAL DEWATERING AND SLUDGE REMOVAL - First Offer	\$230,000.00	1 / lump sum	\$230,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT ST- 0163-2- -01-11	BASE BID: MISCELLANEOUS WORK ITEMS - First Offer	\$35,000.00	1 / lump sum	\$35,000.00
	Product Code: Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$1,523,944.00

### **Archer Western Construction**

\$1,713,501.00 (11/11 items)

Address **1411 Greenway Drive Suite 103** 

**Irving, TX 75038** 

Bid Contact **Jeffry Polak** 

jpolak@walshgroup.com

Ph 972-457-8500 Fax 972-457-8501

Qualifications **OKC PRE-QUALIFIED CONTRACTORS** 

Agong, N	Agency Notes: Supplier Notes:					
Agency r	votes:	Supplier Notes:				
Item#	Line Item	Unit Price	Qty/Unit	Total Price		
OCWUT ST- 0163-2- -01-01	BASE BID: MOBILIZATION - First Offer	\$25,000.00	1 / lump sum	\$25,000.00		
Product Agency N		Supplier Product Code: Supplier Notes:				
OCWUT ST- 0163-2- -01-02	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 14) - First Offer	· '	1 / lump sum	\$191,200.00		
Product Agency N		Supplier Product Code: Supplier Notes:				
OCWUT ST- 0163-2- -01-03	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 20) - First Offer	· '	1 / lump sum	\$120,500.00		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
OCWUT ST-	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 44) - First Offer	l .	1 / lump sum	\$157,300.00		

ser Replac	cement its	Trusts		
0163-2-				
Product	Code	Supplier Product Code:		
Agency N		Supplier Product Code: Supplier Notes:		
OCWUT ST- 0163-2- -01-05	BASE BID: DEMOLITION OF DIFFUSERS (AERATION BASIN NO. 80) - First Offer	\$138,000.00	1 / lump sum	\$138,000.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT ST- 0163-2- -01-06	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 14) - First Offer	· ·	1 / lump sum	\$220,300.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT ST- 0163-2- -01-07	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 20) - First Offer	\$195,300.00	1 / lump sum	\$195,300.00
Product		Supplier Product Code:		
Agency N	Γ	Supplier Notes:		
OCWUT ST- 0163-2- -01-08	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 44) - First Offer	\$207,200.00	1 / lump sum	\$207,200.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT ST- 0163-2- -01-09	BASE BID: REPLACEMENT OF DIFFUSERS (AERATION BASIN NO. 80) - First Offer	\$182,600.00	1 / lump sum	\$182,600.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT ST- 0163-2- -01-10	Γ	\$276,100.00	1 / lump sum	\$276,100.00
Product Code:		Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT ST- 0163-2- -01-11	BASE BID: MISCELLANEOUS WORK ITEMS - First Offer	\$1.00	1 / lump sum	\$1.00
Product		Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
				<b>Lot Total:</b> \$1,713,501.00